

Σ

13. $\frac{1}{V_0} \times -\frac{1}{V_0} \times \frac{1}{V_0} \times \frac{1}{V_0}$

$$a = \frac{1}{V_0} \times -\frac{1}{V_0} \times -\frac{1}{V_0} = \frac{1}{V_0}$$

540 9.

$$\frac{110 \times 10^{-3} - \frac{1}{1} \times 10^{-3} + 1 \times 10^{-3} - 1 \times 10^{-3}}{\frac{1}{1} \times 10^{-3} + 1 \times 10^{-3} - 1 \times 10^{-3}} = \frac{1}{10^{-3}}$$

2

✓

$$an^2 + bn + c$$

$$- \frac{1}{1} \times 10^{-3} + b \times 10^{-3} + c \times 10^{-3}$$

$$vb + c \times 10^{-3}$$

$$- \frac{1}{1} \times 10^{-3} + c \times 10^{-3}$$

$$b \times 10^{-3}$$

MICRO

$$c \times 10^{-3}$$

$$-1 \cdot a$$

$$-1a$$

$$t_r = 1a + b$$

$$t_v = 1a + b$$

$$t_r = 1a + \epsilon d$$

$$t_v = 1a + b$$

$$t_v = 1a + \epsilon d$$

$$b = 1a \quad \textcircled{p} \quad \checkmark$$

$$-1a, -\epsilon d$$

$$-1a = -1a + \epsilon d + \delta a$$

$$t_{10} = 10a + b + \delta a + \epsilon d \quad \left[\begin{array}{c} -1a \\ \epsilon d \end{array} \right]$$

$$\gamma(a+d)^r = \delta(a+\epsilon d)a + r(a+\epsilon d)a \quad -\gamma$$

$$\gamma a^r + \gamma d^r + 11ad + \delta a^r + \gamma a d + r a^r + r a d$$

$$r a^r - \gamma d^r + ad = a^r + ad - (r d^r) \quad (a - r d)(a + \epsilon d)$$

$$\textcircled{p} \quad \checkmark$$

$$\frac{1}{\epsilon} \frac{d}{d} = \frac{a + r d}{d} \quad \frac{r d + r d}{d} = \frac{r}{d} \quad \frac{a + r d}{d} = \frac{a}{d} + \frac{r}{1} \quad \frac{a + r d}{d} = \frac{a}{d} + \frac{r}{1}$$

$$a, b, c \quad a + d, \frac{a}{r}, \frac{a + r d}{\epsilon} \quad -\checkmark$$

$$a, a + d, a + r d$$

$$(a + d)(a + r d) = \frac{a^r}{\epsilon}$$

$$\gamma a^r + r a d + r d^r = \gamma a^r \quad d(1a + r d) = \frac{r a}{r} = \frac{r a}{r}$$

MICRO

$g_s - 1 \rightarrow g_s - r$ ✓

△

9-2

حول لفظہ رہائش فرغی تواند باشد

$$(y+2a)(y-a)$$

৭

gs-ra / gs-a

$$\frac{a^5}{a^9} = \frac{a}{9} < \frac{a}{-1a} = -\frac{1}{r}$$

$\frac{1}{r} - \frac{1}{r'} = \frac{1}{4}$
 $\frac{1}{r} = \frac{1}{r'} + \frac{1}{4}$
 $\frac{1}{r} = \frac{1}{2} + \frac{1}{4} = \frac{3}{4}$
 $r = \frac{4}{3}$



MICRO